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20238 =& 2 3| A=SS0HIISSEH EH

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
Atg| = X1t 2,316,400 2,381,205 64,805
= 181,942 181,942 0
< 45,485 45,485 0
Al 2,088,973 2,153,778 64,805
I =MEEE 2,316,400 2,381,205 264,805
= 181,942 181,942 0
== 45,485 45,485 0
Al 2,088,973 2,153,778 264,805
HASEAZ X (23012 EL3IH) 2,316,400 2,381,205 64,805
= 181,942 181,942 0
< 45,485 45,485 0
Al 2,088,973 2,153,778 264,805
IZSHAXMNAAEE(ES2048]) 215,79% 210,795 5,000
= 172,636 168,636 4,000
< 43,159 42,159 1,000
301 et Z 215,795 210,795 5,000
= 172,636 168,636 4,000
< 43,159 42,159 1,000
01 MBIBEE G2 (2 NEXTHR) 215,795 210,795 5,000
melz2=20 ¥3=0Hl XA
AEF215,795,000& 215,795 210,795 5,000
= 172,636 168,636 4,000
== 43,159 42,159 1,000
ZZUHXXHHI A B (T2HIHEZ S) 2,088,973 2,153,778 264,805
802 Btat=DIEt 56,695 121,500 264,805
01 FNE2XZeE3 2,075 40,000 A37,925
W2 NELF AN By
AX2.075,0002 2,075 40,000 A37,925
02 Al - SHIBESEEZ 519 10,000 A9,481
WEHIEEF HHRH Bt
28519,000& 519 10,000 A9,481
03 JIEtEtEZ S 54,101 71,500 17,399
wO|Xt=2 3 Btet 231,500,000 1,500 3,500 22,000
mo=Z=0 RHOIS3S A2y e
ZA52,601,0002 52,601 68,000 215,399
OIS SHAX B ABE(HEHZ]) 11,632 16,632 25,000
= 9,306 13,306 24,000
== 2,326 3,326 A1,000
202 044 3,000 8,000 25,000
= 2,400 6,400 24,000
== 600 1,600 A1,000
01 =2LHOABI 3,000 8,000 25,000
WOSZ0 ¥ ==Xt Atdl2e] PRFX
ZA3,000,000& 3,000 8,000 A5,000




2AM:
X{XH -
[=Ran I

cH):

N
B i for
Jn 0z Jg
Ol o >4
o}r

HU 0

o

Xl

(=220IIZEESIA)

A T SI(BH) - HIRARY - BAS

Ofl &b oK &3 A Hlws2
= 2,400 6,400 24,000
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SA SAIHED
I J|HAERERY SEa| 2
CHl: J|PIAIE RSOl SHE| 2% (J|BALRE 7o SH5|H) (Srol: M2l
A - B - SRA(SIH) - HRAY - BES IS ol F o HlnE2
AR ER 6.971.716 6,968, 100 3.616
JEAESETS =55/ = 6,971,716 6,968, 100 33,616
ARG =557 2S([HAERT RS =2 6,971,716 6,968,100 33,616
313
JEAESETS =253 =g 6,971,716 6,968,100 33,616
401 AE20IZS0HH] 6.961.616 6,928,000 33,616
01 AIZH] 6.961.616 6,928,000 33,616
WASAXI T SAHYEE JHa
217:46,961,616,0002 6,961,616 6,928,000 33,616
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M SAIAHED
S SADHY

o ZAE OIM(SEIH) (UOOoIN L 202X LA SEH3IN) (CHel: M)
SA - B G(3) - HRAY - BES Ofl Aot )l 3o HimE2
SAIHIE D 2,054,999 1,555,000 499,999
SADNE 2,054,999 1,555,000 499,999
TDAE O (SESAH) (THTHOIX &L 202X LA 2,054,999 1,555,000 499,999
SY3H)
TZAlE Ol 2,054,999 1,555,000 499,999
401 AIEBIZL S008I 2,054,999 1,555,000 499,999
01 Al&H| 900,000 600,000 300,000
WICHCHOI M & OIS XI JHEALY
Z2900,000,0002 900,000 600,000 300,000
02 22yl 1,150,000 950,000 200,000
@ICHCHOI M & IS XT JHEPAL
AA1,150,000,0002 1,150,000 950,000 200,000
03 Al 2204 4,999 5,000 A
WICHCHOI M & OIS XI JHEAL
Z&4,999,000& 4,999 5,000 A
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SN S
HE: =iy
Chol: = en2id (SEs|) (IHH) (SR FHAY SE5) (crgl: xiel)
SH - B BRI(S) - RAY - BAS il st ol 3 o HIDE2
EEST 2,082, 702 2,176,001 143,389
HEFEHAY 1,516,874 1,526,091 A9,217
=t A (S50 () (22 FeAe =51 1,516,674 1,626,091 ~9,217
NESSFE 22| 1,495,793 1,505,010 AN9,217
201 L] 110,876 111,101 N225
01 AtR2teld| 18,839 19,064 N225
W Bt=Z=H| 18,839 19,064 N225
0AYHUFA S 8
ZE4,275,000& 4,275 4,500 A225
401 AlEHIZLROHY] 5,604 14,596 AB8,992
01 AlEHI 5,604 14,596 AB8,992
WRHRSASS FUFASY
Z&5,604,000& 5,604 14,59 28,992
Hees(Hsm) 515,828 650,000 AN134,172
HEHHRIES (S =HAIY SE3IH) 515,828 650,000 A134,172
SENHHESDIS(SEAHE) HE2 515,828 650,000 A134,172
704 HIE= 515,828 650,000 A134,172
01 GlIE =2 515,828 650,000 A134,172
WSS HHIHIIIZ 03
Z&515,828,000& 515,828 650,000 A134,172
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SA - B G(3) - HRAY - BES )l 3o
At a2tk 102,533 102,457 76
NLES (K=t 102,533 102,457 76
LHEHHXIE(HID IS XM 2IAIEAISEIIEISE 3 H) 102,533 102,457 76
SEMEHESDIZ(SEAHE) ez 102,533 102,457 76
704 GIE= 102,533 102,457 76
01 GIE = 102,533 102,457 76

mSeHEHESDI= HEZ

AF102,533,000& 102,533 102,457 76
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Sel: =X D18 (XIGk=SE 3| H) (Chol: ®i2)
2B O9(3) - MRAY - BES Ofl o I3 o GImE==T
&Gt 1t 379,874 340,625 39,249
== 5,100 5,100 0
Al 374,774 335,525 39,249
XIot= 2te| 172,849 216,600 43,751
(o= 5,100 5,100 0
Al 167,749 211,500 43,751
b DB = (RIot=SE3IH) 172,849 216,600 A3, 751
== 5,100 5,100 0
Al 167,749 211,500 A3, 751
Xot=2 & 22| 65,649 79,500 13,851
201 LE23H| 39,868 54,108 A14,240
01 At22teld| 35,260 49,500 A14,240
W Bt=2H| 24,460 38,700 A14,240
ORIt =HHAM =2
211,080,000 #23| 22,160 38,400 A16,240
OUISEXots AIMDIRF E2E ME
2,000,000 2,000 0 2,000
801 GilbIbl 2,981 2,592 389
1 Btoiligisl 2,981 2,592 389
CI[e:{{s]1s] 22 981,000 2,981 2,592 389
XIGk==AlE 2t 45,100 75,100 A30,000
401 AlEHIZL 20| 45,100 75,100 A30,000
01 Al&H| 45,100 75,100 A30,000
WS Aot 2= &X|
21:30,000,0002 %1 7K 30,000 60,000 230,000
XISt OISAENZAL 22,100 22,000 100
== 5,100 5,100 0
Al 17,000 16,900 100
802 BtEt=DIEt 100 0 100
02 Al - EHIExZBte2 100 0 100
mEHIEXZ OlAt Bt 100,000 100 0 100
MNLEs(Xo=523H) 83,000 0 83,000
LHRHHXIE(XISt=SE3IH) (KIot=SE3|H) 83,000 0 83,000
SEMEHESDIZ(SEAHE) e 83,000 0 83,000
704 OIE = 83,000 0 83,000
01 GlIE=2 83,000 0 83,000
WSEMEHESIIZ HES
83,000,000& 83,000 0 83,000




